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K-
Hl = Rxl + Rx2 + 04 x L1 + Phl + Ph2 + Ph3
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02 = 6 xIx12x2 = 0.1921kNem? x 16.62cm? x 2 = 105.87kN
R P L- 12(t4=12cm), EZhd=250cmZEHHTS,
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1
I m A b & T ORANEIEN T 5E— A b
BM 179 B _
Ms T+ BM X M T+ 1796 x 7.154 4.596 kN * m

PSR 3 D SnIE Ay

\%4 Nl 4+ xXBXLxD+7yxBxLxd2
722 +245 x29 x 1.2 x 15+ 17.0%x 29 x 1.2 x 0.0

135.11 kN
ﬁﬁﬂiUDﬁﬁiagiﬁﬁ 5 558
% = %m = 02m > e = 0.0189M oo,
JES T < ) DA g
1.2
x = 3x (— — e> = 3x (— — 00189) = 1.743m
2 2
x > L Xbv, BES
SEREIS T (S 36 1T D de KA I 7 2
|4 6 x Mb

B><L+B><L2

13511 6 x 2558
- X = 425kN/m> < S0kN/m® ..

29 x 1.2 + 2.9 x 1.22
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7.6 EEHDEE

D—13

As'

OEfE SAERHT b0 L LTHE, Wik
| B
gmax X ( _2><x>
99.419 x (1 - L) = 35.773 kN/m’
2 x 2.265
gmax — D X vy ¢
99.419 — 1.5 x 245 = 62.669 kN/m>
g —Dx yec
35773 — 1.5 x 245 = —0.977 kN/m?
B x pl
2> (B e
I X .
2 x (62.669 + 0.977) 1428 m
L x pl x x B X
— 2  “\273
1.2 x 62.669 x 1.428 29 1428
2 % (7 B T) B
Lx pl xx
2
1.2 x 62.6269 x 1428 N
M
fb x jxd
5229.9
27 x 0.875 x 140
1.58cm?> < As = 6.335cm’ e,
0
Lxjxd
53,695
120 x 0.875 x 140
3.65N/cm?> = 0.0365N/mm> < fs =

16

5 As = 6.335 cm?

52.299kN * m

0.33 N/mm?



